Parts Information:
Workbench with 2 Drawers Heavy-Duty

Model No: AP2020

o o) ]

Centre support (2) Left slide panel(2) Right slide panel(2)

oL ~®

Back wall panel (2) Drawer stop (4)

A ST

Female slide 1(4) Female slide 2 (4)
{ 2 left handed ) ( 2 left handed )
( 2 right handed ) ( 2right handed )

Y ®0 % ®CF

EALE

2 Rail (4)

Side (2)

®

@ 3h21

v e

Male slide (4)

Corner brace (4)

Wooden top (1)

® &

M6 x 12 Bolt (64) Lock washer(64) Hex nut (64) Adjustable leg leveller (4) 5/8" Hex head screw (4)
Item | Part No. Description Item | Part No. Description

A AP2020.A Side Panel N AP2020.N Layer Board Top

B AP2020.B Rail 0] MSP612.S Machine Screw Pan Head Phillips méx12mm

c | AP2020C Centre Support (Single)

D AP2020.D Panel P SWM6.S Spring Washer M6 Zinc (Single)

E AP2020.E Right Slide Panel Q SN6.S Steel Nut M6 Zinc Din934 (Single)

F AP2020.F Back Wall Panel R AP2020.R Adjustable Leg Leveller(Set of 4)

G | AP2020G Drawer Stop S | AP20205 Screw

H AP2020.H Shelf 460x435x15 - AP2010.FKO Bag Of Bolts (67PCS)M6x12 (NOT SHOWN)

I AP2030! Corner Brace - AP2010.FKP Bag Of Washers M6 (67PCS) (NOT SHOWN)

J AP2020.) Drawer - AP2010.FKQ Bag Of Hex Nuts M6 (67PCS) (NOT SHOWN)

K AP2020.K Female Slide 1 -- AP2010.FKR Bag Of Adjustable Leg Leveller (4PCS M8x20)

: (NOT SHOWN)
L AP2020.L Female Slide 2
- - AP2010.FKS Bag Of Screws (4PCS) (NOT SHOWN)
M AP2050.M Male Slide

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR
|ﬁ 01284 703534 @ sales@sealey.co.uk | www.sealey.co.uk

AP2020 Issue 2 PL 1/05/18

IR 01284 757500

Page 10of1



